[ Efficiency vs vertpos |
- 05

20.45
(2]
Z 04

n
4.
o T
=
IS i 1T
o4 T EH
K-+ POGLIN DY R Y 4444 3
- <+
I pe
0.95

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_base

Efficien —— DQM_mKFit_TT_retrain

~ 0.5
L S e .

o F : : : : ,

2 04 b
> F . . . . N

LC) F H . H N .
TR SRSl A I e S
3] E : : : :

£ 0.3F bbb
5] E : : : :

025+
0.2 b ffroo
0.15F =ttt

E L H
0.1------ RN RRRA RS L --+--.- P R
: : H :

0.05F -+t -++++ ..... +

S FUU P U P
g f :
@ L 1
| REEERTEEPREE 111 GRRRRCREEREE
0'95- N 1 1 1 N
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

Q 0.45F

= E
D 0.45—
20.35F
L>)~ o
c 0.3F
) =
o F
£ 0.25
C:

0.2
0.15
0.1

PEEET

0.05E
AF. i i , i , | |
o+ o o
3 [ A4
o I Tl
- e
0G50 510 1520

Sim. PV z (cm)



	Contents
	Page 1


